Review Questions. Respiratory System

1. What are the clusters of sacs where gas exchange takes place?
2. What are the microscopic tubes that carry air into and out of the air sacs?
3. What are the net-like structures around the air sacs?

4.mny are there so many small air sacsin the lungs?

S.Na\w aflow chart tracing the structures that air travels through as you exhale.

6. hﬁ is true about the capillary network surrounding each alveolus?

7.. ’hat could happen if the cilialining the respiratory tract were damaged?
hat structure is responsible for preventing food from entering into the lungs?

hat two main conditions are necessary for respiratory surfaces to be efficient?
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10mmAsthima is caused by the inflammation of which part of the respiratory system?

=
1Jnmmari ze the functions of the respiratory system.

O

inter air can be very cold and dry. How would the air entering your lungs be different if
ed through your mouth instead of your nose whilewalking to school onacold winter day?
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13.  Theair you exhale contains approx. 16.3% oxygen and 4.5% carbon dioxide. The air you
inhale contains21% oxygen and 0.04% carbon dioxide. What i sthe explanation for these differences
between exhaled and inhaled air?

14.  What are the functions of the nasal passages?

L

1 amedical emergency, adoctor may insert atube down aperson’ stracheato help him/her
Explain why the patient would not be ableto talk whilethey have atubeintheir trachea?

16:S0orie biologists refer to the system of bronchi and bronchioles as the “bronchial tree”.

Wpl anation for this metaphor.

U\at is the function of the tonsils?

1mat is one reason associated with respiration that makes it harder to concentrate in a
cl , Stuffy room?
e

1£J. E>I<p| ain whether cases of pneumoniamight increase or decrease with rising temperature and
refative humidity.

A

ZQU are watching a movie in which a doctor must perform an emergency procedure on a
p 0 has stopped breathing. The doctor inserts a sterile plastic tube into the patient’ sthroat.
a. What structure in the throat is the doctor likely targeting?

b. How will this procedure help the patient?




Answersto Review Questions. Respiratory System

Alveoli

Bronchioles

Capillaries

To increase the area of the respiratory surface

Alveali -> Bronchioles -> Bronchi -> Trachea -> Larynx -> Pharynx -> Nasal Passages ->
ostrils

ZurwdpE

S increase the surface area for the exchange of gases
oreign particles could enter the airways

moist surface so that oxygen and carbon dioxide can be dissolved. A2: A large surface
the body’ s needs

. Bronghioles

esthat oxygen isbrought into the body and made availableto each cell that needsit, AND
at carbon dioxide can leave each cell and be removed from the body

ing through your mouth would result in the cold, dry air entering your lungsmore quickly.
educe the effectiveness of the gas exchange as the respiratory surface would then be
ried. However, the air entering through your nose would be warmed and would take on
sture as it would spend more time in the nasal cavity, which in turn would improve the
of the gas exchange within the lungs

ercentage of oxygen breathed out islessthan that breathed in because some of the oxygen
into the circulatory system. The percentage of carbon dioxide breathed out is higher
reathed in because waste carbon dioxide has been expelled from the body

m, moisten and filter the air

15, Because the doctor would cut in the region below the larynx, and therefore air would not pass
e larynx over the vocal cords. Instead, the air would exit the trachea through the tube
larynx

, the bronchi start from asingle “trunk”, the trachea. The bronchi then branchinto a
of secondary bronchi that eventually lead to bronchioles. Also similar to atree, gas
exEhangeieecurs in the “leaves’ or alveoli of the lungs.

17..The tonsils trap bacteria and other harmful substances preventing them from entering the
respiratory tract

stuffy room likely has alower concentration of oxygen. Hence the cells are less able
the energy that we need to concentrate

of pneumonia would increase with rising temperatures and relative humidity because
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